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QUESTION 1 Advantages of a belt drive system compared to a chain drive system:

e Silent operation
e Less expensive

e Drive can take place over a longer distance

e No lubrication needed

(ANY 2)




QUESTION 2 Hydraulics:

2.1 Fluid pressure:
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QUESTION 3

3.1 Fluid pressure:
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3.2 Distance 'X":
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QUESTION 4 Hydraulic symbols: One-way valve




QUESTION 5 Advantages of pneumatics:

e Compressed air is easy and cheap to generate.

e Leakages are not messy — no oil spills.

e Positive and negative pressure can be generated.

e More compact.

e Easily maintain due to fewer working parts. (ANY 2)

QUESTION 6 Belt drives: Rotation frequency of the drive pulley:
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QUESTION 7 Belt-drive system:

7.1

Driven Pulley
Drive Pulley @ 350 mm v
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7.2 Belt speed:
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7.3 Power transmitted:
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QUESTION 8 Gear drive system: Number of teeth on gear C:
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QUESTION 9 Gear drives:

9.1 Rotation frequency of the output:

N, _ Product of Driven gears
N, Product of Driver gears

No _TaxTe v
Ny, TaxTp
: TexTy
_ 20x25x3000 v
T 35x30 v
N, = 1428.,57 r/min ”
60
=23,81 risec v
OR
NB
Ng xTg =N, xT, v
ML Ny xT, Ny < Ty
Bphd Sadks S
L% N,
_ 3000%20
35

=1714,29r/min ¥

=N, =1714,29r/min

=N xT, v
Ne xTg
To

_171429x25 v
- 30
_1428,57r/min v
a 60

=23 81r/sec




9.2 Gear ratio:

Product of the number of teeth on driven gears
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Product of the number of teeth on driver gears
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QUESTION 10 Work done:
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